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1. Buy 7 get 2 free how much % discount it

is?

7 oLrq,¡ [kjhnus ij 2 oLrq,¡ eqÝr feyrh gS- NwV »
Kkr djsa

(a) 14.28% (b)
2

22 %
9

(c) 21% (d) 18%

2. Buy 5 get 3 free how much % discount it

is?

5 oLrq,¡ [kjhnus ij 3 oLrq,¡ eqÝr feyrh gS- NwV »
Kkr djsa

(a) 37.5% (b)
2

22 %
9

(c) 20% (d) 25%

3. Giving two successive discounts of 10%

is equal to giving one discount of ____ %.

10 » dh nks Øfed NwV nsuk &&&&& » dh ,d
NwV nsus ds cjkcj gSA
(a) 19 (b) 25

(c) 20 (d) 21

4. Giving two successive discounts of 25%

is equal to giving one discount of____%.

10 » dh nks Øfed NwV nsuk ____ » dh ,d NwV
nsus ds cjkcj gSA
(a) 43.75 (b) 55

(c) 50 (d) 45

5. Buy 11 get 3 free + 12.5% additional

discount will result in?

11 oLrq ds [kjhnus ij 3 oLrq eqÝr $ 12-5» dh
vfrfjÙkQ NwV ds cjkcj ,dy çHkkoh NwV gksxh %
(a) 25% (b) 31.25%

(c) 33.33% (d)  12.5 %

6. A shopkeeper sold an article at

consequently 10% & 20% discount. Find

overall discount %.

,d nqdkunkj us 10» vkSj 20» dh Øfed NwV ij
,d oLrq cspkA dqy NwV» dk irk yxk,aA
(a) 25% (b) 50%

(c) 28% (d) 30%

7. A shopkeeper sold an article at

consequently 20% & 30% discount. Find

overall discount %.

,d nqdkunkj us 20» vkSj 30» dh NwV ij ,d
oLrq cspkA dqy NwV » dk irk yxk,aA
(a) 25% (b) 50%

(c) 28% (d) 44%

8. Three successive discounts of 15%, 10%

and 8% is equivalent to a single discount

of:

15»] 10» vkSj 8» ds rhu Øfed NwV ,dy NwV
ds cjkcj gS%
(a) 30.52% (b) 28.22%

(c) 29.62% (d) 30.62%

9. A shopkeeper sold an article at

consequently 
2

14 %
7

 & 
2

16 %
3

discount. Find overall discount %.

,d nqdkunkj us 
2

14 %
7

 vkSj 
2

16 %
3

 dh nks

Øfed NwV ij ,d oLrq cspkA dqy NwV» dk irk
yxk,aA

(a)
4

28 %
7

(b)
2

28 %
7

(c)
2

14 %
7

(d) 30%

10. There are fifty successive percentage
discounts given in a series of 2%, 4%, 6%,
8%, 10%, 12%,.......... and so on. What is
the net discount

,d Js.kh esa 50 Øfed NwV izfr'kr 2»] 4»] 6»]
8»] 10»] 12»] ------------ bl izdkj gSA dqy NwV D;k
gksxh \
(a) 98% (b) 2550%

(c) 100% (d) infinite

11. A company offers four types of successive
discounts: Which offer is best for the
customer?

,d daiuh pkj çdkj ds Øfed NwV çnku djrh gS%
xzkgd ds fy, dkSu lk çLrko lcls vPNk gS\
(a) 40% and 10% (b) 45% and 5%

(c) 30% and 20% (d) 35% and 15%

DISCOUNT (cV~Vk)
(CLASSROOM SHEET-01)
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12. A Company offers three types of
successive discounts (i) 25% and 15%, (ii)
30% and 10%, (iii) 35% and 5%, which
offer is best for the customer?

,d dEiuh rhu izdkj dh yxkrkj NwV izLrko nsrh
gSµ  (i) 25» vkSj 15» (ii) 30» vkSj 10» (iii)
35» vkSj 5» dkSu&lk izLrko miHkksDrkvksa osQ fy,
lcls vPNk gSµ
(a) 1st (b) 2nd

(c) 3rd (d) All are equal

13. Two equal successive discounts % turns
out to be equivalent to a single discount
of 36 %. Find rate of each equal discount
%?

nks leku Øekxr NwV ,dy NwV 36» ds cjkcj gSA
çR;sd NwV dh nj D;k gksxh\
(a) 38.33% (b) 10%

(c) 20% (d) 44.44%

14. Three equal successive discounts % turns
out to be equivalent to a single discount
of 78.4%. Find each equal discount %?

rhu leku Øekxr NwV ,dy NwV 78-4» ds cjkcj
gSA çR;sd NwV dh nj D;k gksxh\
(a) 38.33% (b) 37.5%

(c) 40% (d) 44.44%

15. Two successive discounts on the marked
price of an article turns out to be
equivalent to a single discount of 25%. If
the rates of the first  discount is 10%.
what is the rate of second discount?

,d oLrq ds fpfÉr ewY; ij yxkrkj nks NwVsa 25»
dh ,dy NwV ds cjkcj gSaA vxj igyh NwV dh njsa
10» gSaA nwljh NwV dh nj D;k gS\
(a) 16.66% (b) 37.5%

(c) 40% (d) 33.33%

16. Two successive discounts on the marked

price of an article turns out to be

equivalent to a single discount of

2
22 %

9
. If the rates of the first  discount

is 
1

12 %
2

. what is the rate of second

discount?

,d oLrq ds fpfÉr ewY; ij yxkrkj nks NwVs a
2

22 %
9

dh ,dy NwV ds cjkcj gSaA vxj igyh

NwV dh nj 
1

12 %
2

 gSaA nwljh NwV dh nj D;k gS\

(a) 16.66% (b) 37.5%

(c)
1

11 %
9

(d) 33.33%

17. Three successive discounts on the

marked price of an article turns out to be

equivalent to a single discount of 19%. If

the rates of the first and second discount

are 10% and 4% respectively, what is the

rate of 3rd discount?

,d oLrq ds fpfÉr ewY; ij yxkrkj rhu NwV 19»
dh ,dy NwV ds cjkcj gSA ;fn igyh vkSj nwljh
NwV dh njsa Øe'k% 10» vkSj 4» gSa] rks rhljh NwV
dh nj D;k gS\
(a) 6.25% (b) 5.25%

(c) 
1

11 %
9

(d) 33.33%

18. A shopkeeper sold two articles at two

successive discount of x% and x%. If

market price and selling price of article

are ` 25 and ` 16. Find the value of x.

,d nqdkunkj us x% vkSj x% ds nks Øfed NwV
ij nks oLrq cspsA ;fn cktkj ewY; vkSj fcØh ewY;
` 25 vkSj ` 16 gSaA x dk eku Kkr djsaA
(a) 6.25% (b) 25%

(c)
1

8 %
9

(d) 20%

19. After giving two successive discounts,

each of x%, on the market price of  an

article , the total discount is ` 259.20 .

If the marked price of the article is

` 720 , then the value of x is :

,d oLrq ds cktkj ewY; ij çR;sd x% esa nks ckj

NwV nsus ds ckn dqy NwV ` 259-20 #i;s gSA ;fn
oLrq dk fpfÉr ewY; ` 720 gS] rks x dk eku gS%

SSC CGL 2019

(a) 18

(b) 24

(c) 25

(d) 20

20. An article is sold for ` 528 after

successive discounts of 20% and 12%.

What is the marked price of the article?

20» vkSj 12» dh yxkrkj NwV ds ckn ,d oLrq `
528 esa cspk tkrk gSA oLrq dk fpfÉr ewY; D;k gS\

SSC CGL 2019

(a) ` 760

(b) ` 740

(c) ` 750

(d) ` 780
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21. By how much above the cost price should
an article be marked up for sale so that
after allowing two successive discounts of
20% and 6.25% on it, a net gain of 20%
is made on the cost price ?

ykxr ewY; ls fdruk Åij ,d oLrq dks fcØh ds
fy, fpfÉr fd;k tkuk pkfg, rkfd ml ij 20»
vkSj 6-25» ds nks Øfed NwV dh vuqefr nsus ds
ckn] ykxr ewY; ij 20» dk 'kq¼ ykHk gks\
(a) 66.66%

(b) 50%

(c) 60%

(d) None of these

22. An article is sold for ` 612 after
successive discounts of 25% and x%. If
the marked price of the article is ` 960,
what is the value of x ?

25» vkSj x» ds Øfed NwV ds ckn ,d oLrq `
612 esa cspk tkrk gSA ;fn oLrq dk fpfÉr ewY; `
960 gS] rks x dk ewY; D;k gS\

SSC CGL 2019

(a) 10

(b) 15

(c) 12

(d) 14

23. The marked price of an article is ` 1500.
If two successive discount, each of x%, on
the marked price is equal to a single
discount of ` 587.4, then what will be the
selling price of the article if a single
discount of x% is given on the marked
price?

,d oLrq dh fpfÉr dher ` 1500 gSA ;fn fpfÉr
ewY; ij çR;sd x% ij nks Øfed NwV ` 587-4
dh ,dy NwV ds cjkcj gS] rks x% dh ,dy NwV
ij oLrq dk foØ; ewY; D;k gksxk\

SSC CGL T-2 2019

(a) 1025 (b)  1155

(c) 1170 (d) 1200

24. A shopkeeper decides to raise the marked
price of an article by 10%. How much
discount should he allow so as to be able
to sell the article at the original marked
price?

,d nqdkunkj ,d oLrq ds fpfÉr ewY; dks 10»
c<+kus dk iQSlyk djrk gS rks mls fdrus izfr'kr dk
NwV nsuk pkfg, rkfd mldk foØ; ewY; mlds
okLrfod vafdr ewY; ds cjkcj gks tk,\

SSC CHSL 2019

(a)
1

11 %
9

(b) 10%

(c)
1

9 %
11

(d)
1

8 %
9

25. The successive discount of 20%, 10% and
15% is equivalent to a single discount of :

20»] 10» vkSj 15» dh Øfed NwV ,d ,dy NwV
ds cjkcj gS%

SSC CPO 2019

a) 43.5%

(b) 42.2%

(c) 38.8%

(d) 44.5%

1.(b) 2.(a) 3.(a) 4.(a) 5.(b) 6.(c) 7.(d) 8.(a) 9.(a) 10.(c)

11.(b) 12.(c) 13.(c) 14.(c) 15.(a) 16.(c) 17.(a) 18.(d) 19.(d) 20.(c)

21.(c) 22.(b) 23.(c) 24.(c) 25.(c)

Answer Key
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